
FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 

 
 

Public Utilities 
230 Hospital Road 

P.O. Box 761 
Smithfield, NC 27577 

919-934-2798             919-934-1688 (fax) 
Email: tammy.mclamb@smithfield-nc.com 

 
FORMAL REQUEST FOR QUOTE 

 (THIS IS NOT AN ORDER) 
 

SEALED QUOTES will be received by the Town of Smithfield until 3:00 p.m., Thursday, August 8, 2019, at which 
time they will be publicly opened and read for the purchase of materials for the Booker Dairy Road North Feeder New 
Overhead Addition.   
 
Please quote your best price, delivery (Smithfield, NC.) Items are subject to separate award.  Alternate quotes may be 
considered on products that are equal to or better than the specified product, except when noted for OKONITE only. 
 
To receive consideration, sealed quotes MUST BE mailed or hand delivered to Smithfield Public Utilities Dept., P.O. 
Box 761, 230 Hospital Rd., Smithfield, NC, by 3:00 p.m., Thursday, August 8, 2019.   Quotes received after this date 
will not be considered.  The Town of Smithfield reserves the right to reject any or all quotes.   
 
For technical questions, please contact:  Rodney Johnson 919-934-2230. 
 
Item 

# 
TOS 
Bin # 

Item/Description Qty. Unit Price Total Lead Time 

1 25E2.2 PLE225CC05TCPX New PT# for 25kv Load 
break UG Elbow with Posi-Break, ONLY, NO 
Equivalent 

4    

2 G7.1 guy guards Cat# 70-7Y  or 
PG-6000SC Guy Guard Yellow or equal 

140    

3 AN6.08 J6528WCA 8" Helix, 1" x 66" screw anchor 
Joslyn# orequal 

2    

4 AN6.10 J6550WCA 10" Helix, 1-1/4" x 8’ screw anchor 
Joslyn# or equal 

105    

5 AN6.16 J6528WCA 16" Helix, 1-1/4" x 8’ screw anchor 
Joslyn# or equal 

7    

6  T40.3 25kva CSP 240/120 secondary voltage, pole 
mounted overhead transformer, dual hangers, 
Lightning Arrester, Primary Dual voltage 
22860/13200x12470/7200 
 

1    

mailto:tammy.mclamb@smithfield-nc.
mailto:tammy.mclamb@smithfield-nc.


FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 
7 L1.1 Extension Link, Insulated, Clevis-thimble Eye 

5/8” hole (21,000lbs) Chance #GS21012 CP or 
equal 

68    

8 L8.2a Arrestor, lightning (Riser Pole) (18kv MOV 
type) ARP type polymer Aluma-form or equal 

6    

9 L8.2 Arrestor, lightning Heavy Duty (18kv MOV 
type) AHD type polymer Aluma-form or equal 

67    

10  Switch Disconnect 600amp, pole mounted 27kv 
D73P29SO Cooper or equal 

6    

11 25T1.1 TFT-253E-750kcmil kit w/2 hole connector 
Or equal 

4    

12 25T2.1 TFT251E-1/0 Raychem 25kv terminator with 1/0 
pin connect/stem or equal 

4    

13 C9.1 Bracket, Insulator Spool, Joslyn # J093 
Or equal 

221    

14  Bracket, Three Phase Fiberglass, 
termination/arrestor mounting, Hubbell # 
3SBM3618AMTB or equal 

2    

15  Crossarm Mounting Bracket, Cutout/Arrestor, 
Hubbell # PSC2060674 or equal 

67    

16  H-tap connector PENN-UNION # KO-R08 
Or equal 

90    

17  H-tap connector PENN-UNION # KN-0 
or equal 

130    

18  H-tap connector PENN-UNION # KO-R10 
or equal 

51    

19  Vise-Type Connector for equipment ground for 
three phase transformer Hubbell # GC-207 or 
equal 

2    

20  Cut point hot dipped galvanized staples Joslyn # 
J1672G 

10,000    

21 U10.6 10’ x 6”  U-guard PV-Mold Carlon # 59017N 
Or equal 

3    

22 U10.4 10’ x 4”  U-guard PV-Mold Carlon # 59015N 
or equal 

3    

23 WC3.06 #2 copper Solid soft drawn small reels 250’ 500’    

24 WC3.05 #4 copper Solid soft drawn small reels 250’ 5000’    

25 G1.1 ERICO # HDC58R ground rod clamp or 
T&B JAB58H ground rod clamp 5/8 1/0S or 
equal 

95    



FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 
26 H8.1  Hubbell # BH4 hot line clamp or equal 34    

27 D5.3 Clamp Deadend, Neutral Fargo # GDW2040A or 
equal 

76    

28 D5.4 Clamp Deadend, Primary Anderson # ADEZ88N 
or equal 

363    

29 S1.1 Clamp Stirrup, Anderson # AHLS397021E or 
equal 

31    

30 25C2.1 LBU-II, Y2NEBNFA22 ABB# 25kv 200amp 
cutout, load break, or equal 

33    

31  Adapter, Insulator, DA to Insulator Chance # 
DP1A1 or equal 

5    

32 C9.1 Insulator, spool ANSI 53-2 Joslyn # J101 or 
equal 

225    

33  Insulator, Polymer Deadend  25KV Victor # 
8225 or equal 

382    

34  Insulator, Pin Type, 25kv Victor # 27R or equal  978    

35  Insulator, Guy Strain Aluma-Form # FGS21-
54CR or equal 

119    

36  Double Side Tie PLP# DBST-1108 or equal 108    

37  Double Support Tie PLP# DST-0158 or equal 15    

38  Spool Tie PLP# SPL-1355-P or equal 112    

39  Top Tie PLP# UTC-1110 or equal 708    

40 DAB2.10 Bolts, Double Arming, 5/8” x 10” Joslyn # J8860 
or equal 

50    

41 DAB2.22 Bolts, Double Arming, 5/8” x 22” Joslyn # J8872 
or equal 

225    

42  Bolt, Machine ½” x 6” with nut Joslyn # J8706 
or equal 

4    

43  Bolt, Machine ½” x 12” with nut Joslyn # J8712 
or equal 

8    

44  Bolt, Machine 5/8” x 6” with nut Joslyn # J8806 
or equal 

100    

45 B2.08 Bolt, Machine 5/8” x 8” with nut Joslyn # J8808 
or equal 

300    

46 B2.10 Bolt, Machine 5/8” x10” with nut Joslyn # J8810 
or equal 

300    



FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 
47 B2.12 Bolt, Machine 5/8” x 12” with nut Joslyn # 

J8812 or equal 
2100    

48 EB3.12 Oval Eye Bolt 5/8” x 12 with nut Joslyn # J9412 
or equal 

15    

49  Oval Eye Bolt 3/4” x 12 with nut Joslyn # J9512 
or equal 

25    

50  Lock Nut 5/8” Joslyn # J8583 or equal 3540    

51 E5.58 Eye Nuts 5/8” Joslyn # J1092 or equal 388    

52 H6.1 Screw, Lag ½” x 4” Joslyn # J8754P or equal 188    

53 W1.1 Washer, Square 2 ¼” x 2 ¼” x ¼” with 11/16” 
hole or equal 

5340    

54  Washer, Lock Joslyn # J139 or equal 500    

55 P14.1 Pin, Pole Top 20” Joslyn # J720Z or equal 127    

56  Pin, Crossarm Pin Type 1-3/8” Thread Joslyn # 
J3324Z or equal 

807    

57  Pin, Crossarm Pin Type 1-3/8” Thread Joslyn # 
J647Z or equal 

50    

58  Brace, Cross, Wood 60 x 30 Hubbell # 
PSCRA6030 or equal 

2    

59  Crossarm, Fiberglass, 3-5/8” x 4-5/8” x 10’ w/ 
Center mount- heavy duty (dead end) PUPI # 
DA2500120E3B7X2 or equal 

87    

60  Crossarm, Fiberglass, 3-5/8” x 4-5/8” x 10’ w/ 
Center mount-heavy duty (tangent) PUPI # 
TB250012005X2 or equal 

271    

61  Crossarm, Fiberglass, 10’ Alley arm w/mount & 
brace-heavy duty PUPI # D100005 or equal 

4    

62  Crossarm, 3-3/4” x 4-3/4” x 10’ Hughes Bros or 
equal 

9    

63  Crossarm Brace wood 60” Span Hughes Bros or 
equal  

20    

64 GD6.716 Guy Deadend Fargo# GDE5203 or equal 320    

65 G4.1 Guy Attachment Chance # GEP5A or equal 181    

66  Guy Wire 7/16” High Strength Steel galvanize 6820’    



FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 
67  Pole Plate Maclean # SWGB-20-54 or equal 5    

68  Strut End Fitting Maclean # SWG-20-5 or equal 5    

69  Strut Pipe Assembly 2” x 10’ Galvanize pipe 
Sidewalk guy 

50’    

70  Shackle, Anchor Maclean # J2742 or equal 480    

71 G3.1 Rod, Ground 5/8” x 8’ copper bonded Joslyn # 
J8338-13 

97    

72 WO3.10 1/0 AWG ACSR “RAVEN” (mFT) 7.5724 
(mft) 

   

73 WO3.03 4/0 AWG ACSR “Penguin” 1.0065 
(mft) 

   

74 WO3.15 336 kmcil ACSR “Merlin” 99.8646 
(mft) 

   

75 WU3.06 1/0 25kv solid Aluminum 1/C UR-OJ, EPRSC 
260-30 CAT#161-23-4069, each reel to be 2500’ 
per reel. Okinite only 

1reel 
(2500’) 

   

76 P15.07 35’ CL4 REA spec. wooden pole CCA treated 1    

77 P15.09 40’ CL4 REA spec. wooden pole CCA treated 4    

78 P15.11 45’ CL3 REA spec. wooden pole CCA treated 23    

79 P15.13 50’ CL2 REA spec. wooden pole CCA treated 59    

80 P15.16 55’ CL2 REA spec. wooden pole CCA treated 52    

81 P15.17 60’ CL2 REA spec. wooden pole CCA treated 10    

82 P15.19 65’ CL2 REA spec. wooden pole CCA treated 2    

83 T60.05 150kva three phase pad mount transformer 
208/120 secondary voltage, loop feed,  bayonet 
fused, screw in bushing well with 25kv inserts, 
Primary Dual voltage 22860/13200x12470/7200  

1    

84 J2.3 Junction cabinets, Three Phase, with three 
600a/200a 4 point junctions installed, (600amp 
on each side and 200amp in the middle of each 4 
point junction), Nordic # 
ND683054MGPB71425CB3B or equal 

4    

85  Outdoor power vacuum circuit breaker 25kv 
150kv bil, 20,000-amp interrupter                     
see attached sheet for specs. 

2    



FORMAL RFQ #155 – North Feeder Overhead Addition  
Date: 7/25/19  

 
 
 

 
COMPANY NAME: 

Date: 

Bid Submitted By: 

Street Address: 

City/State/Zip: 

Phone #: 

Fax #: 

Email: 

Quote Valid for ____________________days 

Delivery Guaranteed ___________calendar days after receipt of order 
 
 
 


